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Jack has 3 cars. His brother gives him 1 more car. How many 
cars does Jack have now?

Emily has 2 books. She gets 3 more books. How many books 
does Emily have now?

Tom has 5 blocks. He picks 2 more blocks. How many blocks 
does Tom have now?
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 There are 4 birds, and 2 more birds come. How many birds 
are there in total?

Sarah has 1 doll. Her friend gives her 2 more dolls. How 
many dolls does Sarah have now?

There are 2 apples and 3 oranges. How many fruits are 
there in total?
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Mia has 3 balloons. She gets 2 more balloons. How many 
balloons does Mia have now?

There are 4 cupcakes. 1 more cupcake is added. How many 
cupcakes are there in total?

Max has 1 toy. His sister gives him 3 more toys. How many 
toys does Max have now?
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